Marginal Costing Test – A batch (Answer Key)
1. B
2. C
3. A
4. C
5. Key Factor
6. Variability , Traceability
7. This angle is formed by the intersection of sales line and total cost line at the breakeven point. This angle shows the rate at which profit is earned once the break-even point is reached. The wider the angle the greater is the rate of earning profits. A large angle of incidence with a high margin of safety indicates extremely favourable position. The shaded area in the graph given below is representing the angle of incidence. The angle above and below the break-even point shows the rate of earning profitability (loss). Wider angle denotes higher rate of earnings and vice-versa.
8. . 
a. No Change
b. No Change
c. Increase
9.  
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Example 4: Arnav Ltd. sells two products, J and K. The sales mix is 4 units of J and
3 units of K. The contribution margins per unit are ¥ 40 for J and ¥ 20 for K. Fixed
costs are % 6,16,000 per month.

Sales mix (in quantity) is 4 units of Product- J and 3 units of Product- K
i.e. Sales ratiois 4: 3
Composite contribution per unit by taking weights for the product sales quantity =

Product J- ?40x% + Product K- ?ZOX; =322.86 +¥8.57 =331.43

. X Common FixedCost _%6,16,000
Composite Break-even point = CompositeContributionperunit ~ ¥31.43
= 19,600 units
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18. (i) Cost Indifference Point
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(ii) Present case load is 600. Therefore, alternative B is suitable. As the number of - et
ocument Clou

cases is expected to go upto 850 cases, alternative C is most appropriate.
19. Let Cx be the Contribution per unit of Product X. o
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